Operations with Two Mixed Fractions (H)

Name: Date: Score:

Calculate each result.

1 5i+3£—
5 18
8 N
2 7
- —4— =
AT
8 1
1— X 5= =
4 18><55
1 6
5- +3=- =
> 25135
4 3
_ 1— =
6 57+ G
2
5 —1= =
703
2
8. S5z +5=- =
3
6 1
1— X 5= =
> 116 %3
4 3
5- —5= =
10 6 5
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Operations with Two Mixed Fractions (H) Answers

Name: Date: Score:

Calculate each result.

4 2 29 56 522 280 802 401 841

LT3 T 5t s T 90 "0 T 90 T a5 - o33
, s2.sl A2 31 42 60 22 63 1
8 "6 8 6 8 731 248 62 62

2 7 32 83 608 498 110 55
6 19 6 19 114 114 114 57

W 18 sl o %6,2 676 338 23
18 5 187 5 90 45 45
. sl 6 _ 26,33 234 165 399 133 13
5 "9 5 9 ~ 45 45 45 15 = 15
o os4,q,3 39,18 585 126 711 237 27
7 15 7 15 105 105 105 35 = 35
2 17 3 34 9 25 1
37l T3 7 T 6 T %
2 17 27 17 5 85 4
293795 T35 T 3%y Toa T lan
6 1 22 16 352 22 1
P 1 X3 %53 T 0w T3 73
4 3 34 28 170 168 2 1
0. 5-—5- = ——-"> = ——-— = — = —

6 5 6 5 30 30 30 15
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